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LANGUAGE — Part I — URDU — Paper I

(Prose, Poe}h'y and Grammar)

Time Allowed : 3 Hours ] . [ Maximum Marks : 100
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' (Answer any four of the following questions.)
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(Answer any three of the following questions.)
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(Answer any three of the following.)
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‘ (Answer any one of the following.)
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(Answer any one of the following.)
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(Quote from memory the following lines.)
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(Define any three of the following)
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(Explain referring to the context.)
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(Explain any one with reference to the context of the following)
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(Match the following.)

(&) ()
AIUr (a) < S¥EH7 .29
AT (b) AL 30
W (o) VP 31
et (@) eHFe B2

: Ux’iz?_,/,dmarléf.,t‘?lb’ylﬁéZd’.s
(Choose the correct answer form the given option.)
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(Fill in the blanks.)
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